Factoring Trinomials                                                Name __________________________

1. Multiply

    (x + 3)(x – 2)(x + 1) and get the trinomial

then use synthetic division to check if all three binomials go into your trinomial.

So check if x + 3 goes in to evenly with synthetic division.
Check if x – 2 goes in to it evenly

Check x + 1 goes in to evenly

Show all your work. They should all go in evenly!
2. (2x + 2)(x + 3)(x – 2)

Get the trinomial results.

Then check each of the binomials to see if they go in to your result evenly. 

3. (x – 4)(x -2) (x + 3)

Get the trinomial results.

Then check each of the binomials to see if they go in to your result evenly. 

